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[ TVC(c,b,ch)=(7,5,0) | 2| [TvC(c,b,ch)=(7,51) | "I [TVC(cb,ch)=(7,52) | >'>] [TVC(cb.ch)=(753) | 7>
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4000 | p1 -36.35+ 0.00 4000 £, T | p1 -36.69:+ 0.00 4000, | p1 -36.41+ 0.00 4000 £, T | pl  -36.13+ 0.00

3000 ] 3000[- 3000 3000

2000 2000[- 2000 2000

%
%
%

1000 w00k © = 27,25 [ps/ch . w0k ¢ = 27 47 [ps/ch . 1000k ¢ = 27,68 [ps/ch 1
1 I 1 I - . I I -] 1 I -
0 50 100 50 00 0 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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10001 ¢ = 27.48 [ps/ch ] W000F ¢ = 27.37 [ps/ch 1 1000r C = 27.02 [ps/ch ] 1000F ¢ = 27.96 [ps/ch 1
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; % ; % ; % 5 ; % e
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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